8-4

MEMORANDUM

TO:

Richard Dionisio, Supervisor/Mayor

and Town Board Members

FROM:

Gerry Salvo, Superintendent of Recreation

DATE:

May 5, 2022

SUBJECT:

Monthly Report - April 2022

Attached please find the monthly program and activities report for the Harrison Recreation Department for the month of April 2022

Harrison Recreation Department Attendance and Program Report: April 2022

Sollazzo Activity	Number of Sessions	Number of	Number of Participants	
Men's Soccer	4	11-12	46	
Fitness Room Day	24	19 - 20	475	
Fitness Room Nights	20	12 - 13	250	
Sollazzo Center Drop In Day	24	17 - 18	425	
Sollazzo Center Drop In Nights	20	18 - 19	375	
Adult Pick-Up Basketball	4	25	100	
Sun. & Wed. Basketball	7	15	105	
Minds In Motion	4	9	36	
Tumbling	4	14 - 15	58	
Volleyball (Women)	4	12	48	
Basketball (Women)	3	13-14	40	
Mini Camp	5	30	150	
Southeast Consortium	2	15	30	
TOTALS	125	TOTALS	2138	

Leo Mintzer Center	Number of Sessio	ns Number of	Number of Participants	
AA Meetings	8	20	160	
Battle for Salvation	4	14		
Parents Helping Parents		14	56	
LMCC Drop in Day				
LMCC Drop in Night				
Minds in Motion	6		135	
Weight Room	22	9 - 10	216	
Travel Basketball Practice	8	11-12	90	
Kinderbox Kids	1	11-12		
Boy Scouts	4	11	20	
Girl Scouts	3		44	
TOTALS	56	9 - 10 TOTALS	29 750	

Harrison Recreation Department Attendance and Program Report: April 2022

West Harrison Seniors	Number of Sessions		Number of Participants	
Game Day Drop In - Bridge, Mahjongg, Canastra	16		8	128
Lunch Program				
Exercise Class	4	1	10	40
Bingo/Thursday Meetings	4		30	120
TOTALS	24		TOTALS	288

West Harrison Annex Community Center	Number of Sessions	Number of Participants	
Little League Meeting	1	25	
Day Camp Meeting	1	25	
Bright View Meeting	1	30	
Adult Paint Night	1	30	
Kids Paint Party	1	35	
Parties	4	300	
Community Meetings			
Softball Meeting	1	30	
TOTALS	10	TOTALS 475	

West Harrison Park	Number of Sessions	Number of Participants	
Picnic	2	75	150
Little League Opening Day Parade	1		700
Little League Games	7	24	168
Adult Softball	12	24	288
Babe Ruth/Travel	25	12 - 13	310
Flag Football	2	75	150
HHS Baseball Game	1		50
TOTALS	50	TOTALS	1816

Harrison Recreation Department Attendance and Program Report: April 2022

Harrison Community Center & Veterans Building	Number of Sessions	Number of Participants	
A.A.	9	30	270
Southeast Consortium	3	50	150
ICLU	1		10
Dance Classes	8	30	240
Harrison Players	1		30
Harrison Players - Shows	3	100	300
Westchester Brassman Practice	4	25	100
Yoga	4	20	80
Rental - Party	1		75
Blood Drive	1		50
TOTALS	35	TOTALS	1305

Down Town Seniors Number of Session		Sessions	Number of Participants	
Game Day Drop In - Bridge, Mahjongg, Canastra	20		25	500
Lunch Program	10/1000			
Exercise Class	4		15	60
Bingo/Friday Meetings	4		45	180
Special Game Day	1			10
TOTALS	29		TOTALS	750